1/0 do/dtaus,,

Ratio to ATLAS

=
o

[EEY

0.5

7000 GeV pp

Jets
I

[ | I I | I I I | I I I | I ]
N-subjettiness 1,/1, (anti-k_(1.0), 300< p_< 400, |y| < 2.0) _
| m ATLAS
— --i3-- Herwig 7.1.0 default —]
= ¢ Sherpa 2.2.8 default -
B - N
o _— B _
= M ' E
: ,f.-"'lx{ﬁi{ ! :
- & =
~ m :
E | | | | | | | | | | | | | | | E
: | T T T | T T T | T T T | T T :
" ey .
- e & Jﬂ""'“*”@» - -
Rl s TP U 4
i R T

0.4 0.6 0.8 1
N-subjettiness tau32

Rivet 3.1.0, = 7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


